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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

wers framEd FetrpR oed f -

(a) John Rawls is a liberalist / neo-
liberalist / neo-realist thinker.
( Choose the correct answer )

(= Techl AR Sferedr )
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(2)

(b)) Who amongst the following is the writer
of the book, Politics Among Nations : The
Struggle for Power and Peace? -

(e)

(3)

Where did the first NAM Summit held?
NAM T 224 e 7 02f%e ?

Politi : SEATO was formed in the year 1946
f;:m;i wirogfd N}ft‘ons : The Struggle O oar 1948 / 1954, ‘ /
eace T
e 2 CRTCA el ( Choose the correct answer )
(i) E. H. Carr SEATO 558% /[ 84 [/ 338y /[
ERCE y5@8 TS 5199 T C2f=A |
(i) Kenneth Waltz (o Tl AR Tferea )
N T (g) Adolf Hitler pioneered the Fascist
(i) Hans J. Morgenthau Movement in Italy.
2 (&, qeofqe’ ( Write True or False )
fiv) Francis Fukuyama qo RRoAR WAe @oAm AT AEICT
TR R |
( Choose the correct answer ) (a9 o )
(%% Te :I?@%ﬁem) (h) In which year did the Soviet Union
: i ber of
(¢ In which ! . collapse and separate into a num
Crisis begiir:?ar did the Cuban Missile different countries? iy
e e (RS0 3T 1O ﬁs%_ﬂﬂ
PSR fii2e sk o o tafeet o et W24 w1 (2R ?
(d) Name one signat
Warsaw Pact bg:sid(?; Cf)untry. of the () Who instituted the reforms of ‘Glasnost’
RIS T SR and ‘Perestroika’ in Soviet Union?
W@mgﬁ e il afas  [fems @ AR S
COIRERF ArTe SR 2
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(4)

() Council of Westphalia was by nature
a/an Strategic alliance / International
treaty / Peace treaty / Defence treaty.

( Choose the correct answer )
ﬁ§&mﬁﬁm3'eaﬁaﬁ%m'ﬁﬁwwvmﬁﬁ'éﬁﬂﬁﬁ@

gllwmﬁ%/*ﬂ%ﬁ/wﬁﬁ*

(=% Teach! 91z Sferear )
2. Answer the following questions : 2x5=10
TS Al e T o

() Mention any two consequences of the
Treaty of Westphalia
International Relations.

SIETEN A AReeifree araceEm
R RGP 1 et ozars <o |

in regard to

(b) Write any two reasons of the rise of
NIEQ after the World War II.

S Regas P NIEO T B R
IR 2 ) biz S

(c) What do you mean by the term ‘Third
World’?

PO ey’ et R =m0

22A/44 ( Continued )

(@)

(e)

(S)

Name any two regional organizations.

TR o1 Hrefers S13o15ad I foram 1

Mention any two challenges of post-Cold
War Russia.

Mest a3 “R<el SHEd AR R 7o1
AR G 1|

3. Answer any four of the following questions :

5x4=20

wofe fira epprgRd Riceic eIk Ted for -

(a)

(b)

()

22A/44

Discuss the significance of the feminist
approach in the study of International
Relations.

HEARE AN HHETS AR GESIAN
S HCETAl 41

Write a note on the causes of
disintegration of Soviet Union.

@fors BT AESIIT FATHR S
qft G ot |

Write about the key features of Marxian
Approach to International Relations.

SRy AEAee  q@m GRS I4
PR o |

( Turn Over )




(6)

(d) Discuss briefly on the concept of

G2 %)

: : L i hau’s six principles of
Neo-liberal : (b) Explain Morgent
Relat_ion; A a latesnational political realism. How is Neo-realism
. different from realism? 6+4=10
HRBARE AEANS -STRORME [ v IR SIIE
SCAT 34 | : AT AT =01 WS
\ | 7T -FEERM (@A TBIAME 70 74T 2
(e) Write a note on the features of the Third b5, K
World. Or / 71291
pon P GPER eme «ft Gt ot o Discuss the stages of development of
() Mention the causes responsible for the International Relations as an academic
emergence of alternative power centres discipline. 10
in post-Cold War period. e R TRoI SRR AEAIed T
Srowt gad S S st Hfeea R BrE TR SO 41|
FRPTR SCEd 91|
(c What is Cold War? Explain the phases
Answer the following questions : of Cold War. 3+7=10
ware fE PR Ted for %ﬁ%ﬁ?WWWWWWI
(a) Explain the various phases of 3
emergence  of International  State @
system. 10 Discuss about the causes and
wRRE & e S R PR consequences of the World War II. 5+5=10
50 400
i TR o FARTPTR S
Discuss the nature and subject-matter
of the study of International Relations. (d) Discuss the features of Third World
4+6=10 : 10
Countries.
GEARE AT SHEA o W I ST <1 |
TR SO 7 | wo R (P @FEPTR
2A/44 Conti
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(8)

Or / =231

What is NAM? Discuss the significance
of NAM in the contemporary World
politics. 2+8=10

NAM f$97 Somafis v ImAfees NAMS
SFG AE SCADA 41 |

* kK
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(8)

Or / 71231

What is NAM? Discuss the significance

of NAM in the contemporary World
politics. 2+8=10

NAM fF72 somafis fd IeAice NAMS
BEG TE FCADA F41 |
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